1) Change the subject to T: 4 - 3m = 2T 2T = 4 - 3m  $T = \frac{4 - 3m}{2}$ 2) If k = 2 and j = - 3, evaluate  $2k^2 - 3j$   $= 2(2^3) - 3(-3)$  = 8 + 9 = 173) Solve the equation for x: 3x - 9 = 1 - 2x 5x - 9 = 1 5x = 10x = 2

## Today's Learning:

To know the general equation of a straight line and identify the equation of a straight line from its graph.

Plot	t the	se c	rapł	าร นะ	sing	a ta	ble (	of va	lues	:	L-	1-1	١		
												(٥١	5		
1)	y =	2 <b>x</b>	+ 1				x	-1	0	١	2				
							у	~ )	١						
2)	y =	3 <b>x</b> -	4				x	- 1	٥	١	۷				
							у	-7	- <b>4</b>	-1	2				
3)	y =	-2 <i>x</i>	+ 2				l	'= ۱	3(-	)-1	ł	γ	- (	6(0)	-4
								) =	-3	-4		U	;	0-	4
									7	₽			1	- 4	

#### **Equation of a Straight Line**

The general equation of any straight line is **y** = **m***x*+ **c** where **m** is the gradient and **c** is the y-intercept. **e.g. 1)** State the gradient and y-intercept of the line with

equation y = 2x - 3

**2)** Sketch the graph y = -x + 4



**Starter** 

M=WX+C

2y + 3 = 4x  $3 \quad 3$  2y = 4x - 3  $y = 2x - \frac{3}{2}$ 

State the gradient and y-intercept of the line with equation

1) Calculate  $\frac{2}{y} - \frac{3}{z}$ 

2) Write in completed square form:  $g^2 - 6g + 4$ 

3) Calculate 5m<sup>3</sup> x 2m<sup>-1</sup>

Challenge:

4) Fully factorise 3f<sup>3</sup> + 3f<sup>2</sup> - 6f

## Today's Learning:

To rearrange the equation of a straight line to find the gradient and y-intercept.

$$f(x) = 2 - (3 - x) f(x) = x^{-3}$$
  
$$f(-1) = 2 - (3 - 1) f(2) = 2^{-3}$$

**Rearranging the Equation of a Straight Line** 

e.g. 1) 
$$2y = 6x - 1$$
  
 $y = 3x - \frac{1}{2}$   
2)  $y - 4x + 5 = 0$   
 $+ 4x + 4x - 5$   
 $y = 4x - 5$   
3)  $0 = 5y + 4x - 1$   
 $-4x = 5y - 1$   
 $-4x = 5y - 1$   
 $-4x + 1 - 5y$   
 $y = -2x + 4y$   
 $-\frac{1}{5}x + \frac{1}{5} = y$   
 $y = \frac{-4}{5}x + \frac{1}{5}$ 

## Challenge:

Write down the equation of the straight line that has gradient 3 and passes through the point (2, 4)

-mx+C  $\begin{array}{c} 1 \\ 4 = 3(2) + (2) \\ 4 = 6 + (2) \\ - 2 = (2) \\ - 2 \\$ 

e.g. Write the equation of the straight line with gradient 4 y=m x + c y=m x + c 7 = 4 x - 2 + c 7 = -8 + c 15 = c y = 4 x + 15that passes through (-2, 7). <del>۳</del> ۲

**Substituting to Find the Equation** 

# Starter 1) If a = 2, b = 4 and c = -1, evaluate b<sup>2</sup> - 4ac = $4^{2} - 4x 2x - 1$ = 16 - 8x - 1= 16 - 8x - 1= 16 + 8 = 242) Solve for g: 3(g - 2) = 11 3g - 6 = 11 3g - 6 = 11 3g - 6 = 17 $g = \frac{17}{3}$ 3) If b = -3 and F = 1, evaluate b<sup>2</sup> - F<sup>3</sup> = $(-3)^{2} - (1)^{3}$ = 9 - 1 = 8

## Today's Learning:

Finding the equation of straight lines when we are given 2 points.





Find the equation of the straight line that passes through the points (-2, 6) and (3,1)





Find the gradient, then substitute into y = mx + c.

e.g. 1) A(12, 10) and B(6, -2)  $grad = \frac{y_2 - y_1}{x_2 - x_1}$ ,  $IO = 2 \times 12 + C$   $= \frac{-2}{6} - 12$ , IO = (2y) + C  $= \frac{-12}{6} = 2$ , -14 = C  $y = 2 \times -14$ 2) G(2, 6) and H(-4, 3)  $grad = \frac{y_1 - y_1}{x_1 - x_1}$ ,  $G = \frac{1}{2} \times 2 + C$   $= \frac{3-6}{-4-2}$ , G = 1 + C  $= \frac{-3}{-6} = \frac{-1}{-2}$ , C = 5 $= \frac{1}{2}$ ,  $y = \frac{1}{2} \times + 5$ 

### Starter

1) Factorise fully:

3T<sup>2</sup> - 5T - 2

2) Change the subject of the formula to b:

$$T - 1 = \frac{2b}{5}$$

3) Find the arc length of a quarter-circle with radius 10 cm.

4) Simplify the surd  $\sqrt{72}$ 

Today's Learning:

Exam Practice



Exit question:

1) State the gradient and y-intercept of the straight line with equation 4y - 3x = 7

2) Find the equation of the straight line that goes through (-2, 9) and (4, 15)